Ypok MaTeMaTuKH

18 AHBapS.
KnaccHas paborta.
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8e4-4= 28
7 « (49 — 45)=28



6 Ccm

3 CM

6 +6+3+3=18 (cMm)
6*2+3*2= 18 (cm)

(6+3)*2=18 (cm)
OTBeT: nepumeTp 18 cm.
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8+8= 16
8+8+8=24

8+8+8+8=32

8+8+8+8+8= 4()

8+8+8+8+8+8= 48
8+8+8+8+8+8+8= 56

3+8+8+8+8+8+8+8= 64

3+8+8+8+8

3

8+8+8= 72

8:2=16
8:3=24
8-4= 32
8-5= 40
8:6= 48
8:7=56
8-8= 64
8-:9= 72



8:2=16
8-3=24
8-4=32
8-5=40
8:6=43
8:7=56
8-8=64
8:9=T72

2-8=16
3-8=24
4-8=32
5-8=40
6-83=438
7:8=56
8-8=64
9-8=72



Pabota no teTpaau

C.59 Ne4



Monoaubl!!!



